End Sem (II)—
AECC (Environment Studies)

2031 (Splanca and Vocational)

Time : 03 Hours @\'—

Full Marks : 100

Candidates are required to give their answers in

their own words as far as practicable.
The figures in the margin indicate full marks.
All questions are equal value.
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Answer all questions
o s @ e ¥

Choose the correct answer of the following

FrefeeT § ¥ 9@ 9o & wus a3

| Every yvear world environment day is ¢ :
Vo s celebrated on:-
maﬁﬁﬁaunhmﬁ%wmt -

(a) 5lune (5 §®) (b) 5 Se
J September (5 fyerra)
(¢) 2 October (2 yagay) (d) 10 March (10 )
The most stable ceosystem is - Jwn Rer iRRefirY SER S
1‘31 Ocean (392) (b) Forest (W171e) (¢) Desert (7)) (d) Mountain (TBTS)
3. Theterm 'Ecosystem' was coined by - TRRf ez & v o
|

{i‘::l) Tansley (/=) (b) Odum (3ars™) (c) Ritter (Rew) (d) Stoddert (=)
4. Which one of the following is included in the bi
qﬁﬁﬂ%ﬂﬁﬂ‘ﬁﬂ%mﬁmﬁmﬁlﬁ&h

(a) Primary Producer (rifis IATES) (b) Macro-consumer (7a Swa=n)
(¢) Decomposer (Rees (d) All of these @ )

5. Which one of the folloﬁing is included in the primary producer of ecosystem :-
TR 73 @ yeife saes 3 wiufm 2 "

(a) Plants (Gg—dm) (b) Bacteria (framy)
(¢) Carnivorous (wiwERY i) (d) Herbivorous (znamer)
Biotic component of an ecosystem is - IRRRE d3 @71 AP Ted 2
(a) Light (&) (b) Soil (31) (¢) Plant (@Em (d) All of these (@ w+)
7| Which is the following is the most important element of ecosystem?
| FrfoRen 4 &1 o1 W TRRRS o3 &1 Tewyet aw ¥
| (a) Energy flow (3wt vamE) (b) Food chain (@re sjg@en)
(c) Ecological Succession (mRRufard srem) (d) Food Web (@ we)
8. An organism that feeds plants only is called :- & W9 & dasr M &7 @@ 2
(a) Carnivore (WrER) (b) Omnivore (WarEm)
(¢) Herbivore (sM@ERY) (d) Dentritivore (®T—Tal)

9. What 1s the original source of almost all the energy in most ecosystem?
e vIRRAfA@ a3 # Wi Swl &1 aafdas | qur 82

(a) Carbohydrates (FHEEESCH) (b) Carbon (&)
(¢) Water (Ga) (d) Sunlight (@ @1 weT) ‘
10. Which one of the following is responsible for ecological imbalance in ecosystem?
TRRef a3 # seger & g 7 % ¥ o e Saverl @2 |
(a) Afforestation @ Rm) (b) Biodiversity Conservation (Wa faRwrar wwem)
(¢) Deforestation (a=3ei+)  (d) Sustainable development (R @)

11.  Which one of the following is not a renewable energy?
FA=faRes 4 FF @19 @ Td- e g Fal 8 87

rJ

otic components of ecosystem -

Geothermal energy (ardra o) (b) Hydropower (Sre fa)
(E;? Nuclear Wm Sl (d) Solar Energy (¥ i)
12. Rene wable energy resource is = # TditwRor v Sl wHwE -
(a) Coal (@mam) ; (b) Petroleum (rgferam)
(c) Fuel wood (@re ge) (d) Natural Gas (maftvs )
- 74 feaw §-
s ?;T?JF;:":@?I” mi: | M (b) 21 March (21 =)

(c) 16 September (16 R (d) 30 Octob 30 I

14.

(b) Habitat
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(¢) Drought (e (lll) Ml:rf‘:{::n (i # T
Chipko movement s associated with - [fam o m - -

@) Water pollution (o Hgun) (h) S0l I'“”“:“"L,{,:;l U
(¢) Lorest conservabion (1 Them) (1) Sound PPollution f”'f‘ e,
Which of the Tollowing 15 not i non-traditional source of energy?’
Mrof®iga N @ @l um Ae qeraeng aart wha it RY | |
() Atomic enerpy (1] ) () Solar Energy (7fy iﬁ‘-’ﬂ)

(¢) Vidal encrpy (Tl wnd) () Wind energy (177 S

In India tidal enerpy is producing in the arca ol -

wreer N o &a ot o o Thar e vl f |

(n) Kuchha (ame ava i) (y) Sundervan Delta (e &7 doer mA )

(¢) Godavan Delta(niamad Aot v N () Mahanadi Delta (MEr %’E?'f)
Which one of the following is the important factor responsible for decline of bio-div
dra fafaaar doaof) i e oy ) @ ok aen Gas spcayof ey &7

(n) Destincthion of | Inbital (umar an fadm)

(b) Gienetic assimilation (@1:(aivrm o)

(¢) Controlling pests (-t sfvdl e Fraron)

(d)y Controllmg predators (vl @ BUEL)

Red Data Book meludes - Y8 s @ 0 i 8-

(a) Timber Trees (mawd) ge) (b) Red Forést (@re a)
(¢) Lconomic Plant @nfia weer i ) (d) Endangered species (e it saTfera)
Carbel National Park is in - @ole Fwae um #-

ersity”?

(a) Uttar Pradesh (Wor wéde) (b) Madhya Pradesh (we geer #)
(¢) Uttarakhand (Sciravs ) (d) Rajsthan (Frereerr=)

Environmental education is targeted to - qafaver Rw a1 cey faar Tt 8-
(a) General Public @ i)

(b) Professional Social groups (@amfad wrmford i)

(¢) Technicians and scientists (- v AsnfAD)

(d) All of the above  (Tadaq )

Which pollution is generated by burning plastic or polythene?
Wiftem a1 Tl @ STE @ 6T A aeuer g 87

(a) Noisc Pollution () wgeo) (b) Air Pollution (g g¢aom)

(¢) Water Pollution (STd siguvi) (d) Radioactive pollution (fafesvvr ggwom)
Radiation is a health hazard because it causes:- (B0 U6 e iTHaT 2 qmife g g -
(a) Malaria (Maldym) (b) Cholera (&) (c) Cancer (Fav) (d) Influenza (S[®™)

Noise pollution starts at how many decibels of sound?

saf ggrur a-ft SNaq afy A ga orm 8?7

(a) SO-60 (h) 80-90  (c) 40-70 (d) 20-30

Which of the following is result of green house effect?

Prefafaa 3 @ @9 sl 7o uwE &1 gk 87

(1) Risc of Temperature (gaen mamr) (b) Industrial development (enfia @)

(¢) Population growth (s gfi)  (d) None of these (5=% & 18 7T8))
Deforestation lcads to - TARET A Bl ¢

(n) Soil crosion (&1 AURTH) (b) Habitat destruction (g fa=me)
(¢) Drought () (d) All of these (1 & @)

The environmental problems related with Dam construction are:-
anr ufraaE o @R yafaeer ygam f-

(a) Extinction of some plants and animals species
®Y Ry q T<] Woilfoar i faeaird o .
(b) Landslides (y&aad) (c) Soil erosin(yer swve=) (d) All of these (3718 )

Which of the following waste material 1s degradable? ¢l B W DR TR TS @7

(a) Plastic (@Red) (b) Metal (@) (¢) Glass (@) (d) Paper (: )
Coal, Petroleum and Natural gas are : - &aa, agiftm @ misfds T4 8-
(a) Fossile Fucls (Gfrareg ged) (b) Renewable fuels (mrasmweh gu+)
(¢) Alternate cnergy sources (@afeam Hul 31) (d) None of these

Bhopal gas tragedy was caused by - WUt #W TR g9 998 6 g8 —

(a) Carbon Monoxide (@1d-1 TS 8)

(b) Carbonyl Chloride (@1aFT5d deivTEs)

(2)
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(¢) Methyl cyanide (Pergar wrgerme)
" (d) Methyl Isocynate (Frenmga anga) wmge)
. Which of the following i 1c di
£ 1s an aquatic disaster?
Refefea A ¥ Y v o ;u(:rrm £?
(@) Tropical Cyclone (awr mfRasin wmar)  (b) Earthquake (qam)

(c) Ik;nndslidr (@) (d) Tsunami (g1
32.  Ex-situ conservation 1s done in ; - FeifRerfrah) stonm Wy
() Zoos (wf genrs) (b) Botanical Garden (zrerfey wem)

(¢) Forest Research Institute (7 A wem )  (d) All of these g3 # 7Yg )

33. Onec nt_ the major cause of contimination of green fruits and vegetables is -
B0 Wi alv wa & ugwor @1 ow uyw@ e {7 -

(8) Excessive irrigation of farmland (&R 4 29 sfyem Rierrd)

(b) Use of farm manures in fields (@) & B @ w1y

(¢) Use of insecticides and pesticides (@AY N #eaviey al BYEEAES Mg wET B g
(d) Faulty storage and transportation techniques (@yqgof wwaro s oftre awAD)

34.  Which one of the followin ' * - -
- g states has done compulsion of implementing rain water harvesting i
) ol _ . n every
building at first time in India. ¥ . g
WA R avt e G B URS W N wdwem Pl weX Aren o vmr

(a) Tamilnadu (afs=1g) (b) Karnataka (®71e®) (c) Rajasthan (Fraverr)(d) Punjab (o)

35. Which of the following is not a green house gas? Fefafaa & @ o @ A= erew tu 48 2
(a)) Carbon dio-oxide (FHTeriTES) (b) Methan (o) |
(¢) Chlorine (aaf¥=) d) Nitrous oxide (ABZH IraEe)
36. The intensity of Earthquake is measured on HHY B ﬁtﬂ(m)w et 8- )
(a) Racter Scale (R wd) (b) Metre (¥rev)
(c) Decibel (8a) (d) Litre (c¢fteR)
37. Ozone depletion in the stratosphere leads to :&YWERR ¥ 3T RaaHT § BT &
(a) Forest Fires (a= aiffq) (b) Global warming (%St THfE<)
(¢) Water pollution (G wgwoy) (d) Smoke pollution (gg wguv)
38 Which is not a natural disaster? 91 @ @\F t& ugfs amuer 98 22
(a) Cyclone (aieR) (b) Nuclear explosion (rara fRvwe)
(c) Earthquake (:@=) (d) Volcano (sareimzh)
39. The causes of malnutrition and hunger are : - HYIEOT T I HT FRIT & —

(a) Poverty and Political unrest (&t iR wo+ifde aranf)
(b) Civil War and Class conflict (7 g& a a7 wu)
(c) Under distribution of resources (F8®FAT &7 3w faawon) (d) Al (358% +)
40. Silent Valley has been preserved at it has ;- Hgd=T #eft & T @71 73T T WifH 39H ¢
(a) Recreation value (Rfshasa #ew #) (b)Natural forest (Wiafad =)
(c) Valable timber plant (Fgqcd aHS! A U3 5)
(d) Rare plants and Animals (¥ U3 3R SFaR )
41. 1st December is celebrated as : - 1 fe= o1 79/ 9T § -
(a) National Youth Day (0&fia gar feaw)
(b) World Environment Day (fava uafaor fiaw)
(c) World Pollution Day (fa¥a S-ver feaw)
(d) World AIDS Day (fdea ts¥ fXaw)
42. Shantiniketan was set-up based on environmental ethics by :-
yifafdaa yatawr @ gear & fay fRsfaa fGar man-
(a) Jawaharlal Nehru (srameverrd 6% gR)  (b) Mahatma Gandhi (&7 TR §1¥0)
(¢) Rabindranath Tagore (fa=e=mr 2R W) (d) Vidyasagar (RemarR gw)
43. Which of the following Tribes is not found in Jharkhand?
fre 2 § @19 S AREe A T8 U O B
(a) Munda (gven) (b) Oraon (S¥4) (¢) Gond (Mve) (d) Bhil (0s1)
44. Rain Water harvesting can be done using :- a8t ool weavr faar S wadar -
(a) Richarge pits (Rast 1@ @ gw) (b) Recharge trenches (Rend 2%t & g)
(c) Abandoned bore wells (srmfa® dR @ & g1V) (d) All of them (Sufga &™)
45. Major (Big) dams may cause - @81 &4 ol 8 |
(a) Earthquake (@) (b) Hurricanes (q%) (c) Storms (3if) (d) Cyclones (@shard)
46. Which of the following is a top carmivore? fPrer 3 & ® O aiwe 87
(a) Tiger (@) (b) Crocodile (=) (c) Hawk (dia) (d) All of them (Iuygar w41)
(3) i
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47.  One method of Nitrogen fixation in nature is hyr -ﬂﬁm Perteor W‘T ﬁ(g;’Stnrm ()
(a) Thunder (Rrush) (b) Rain (af) (¢) Lighting (ararefa ﬁﬂ?; Imicr—
48. Energy flow in any ecosystem is always: - &t vare afRfRefdla @ ~

i _ idirectional (vaafaen)
(a) Bidirectional (ffen) (b) Unidirectiona _ _
(¢) Multidirectional (wgfen (d) None of the ﬂb“:;(f‘é m
49. " Maintaining biodiversity in natural habitats is called: - HTW'R"’ fafaerT § il
(2) Ex-Situ (arifRerfiyas wiomyoy) (b) In Situ (WfeIRrs ¥
(€) In Vitro (gn—fagY vre) (d) En masses
0. When wild Life Protection Act was passed? ra-ofrn gon affrgn w2 alRa g
(2) 1982 (b) 1978 (¢) 1976 (d) 1972

51 One of the following is not the fundamenta! concept of environment.
¥ N B s g w gataen @ o) 89

(@) UNEP  (b) Green Peace (c) WWF (d) Red Cross

<. Mainly responsible for destruction of forest. T e ®1 qen sRM g 3
(a) Increase in global temperature  (@gen amewrm) (b) Soil erosion (gar aves)

(¢) Ozone depletion (3a) Rffras)

(d) Over exploitation of resources (WAl &1 afy 2vee)

N3 Water dispute between Karnataka and Tamilnadu is known as
WS R Ffes ok aftesrg seem 8-

(a) Krisha (g7 far) (b) Kaveri dispute (&% faame)

() Koyana dispute (®xrar fare) (d) Godawari dispute (rea® faarz)
© 34 Which of the state is not linked with Ravi-Vyash water dispute-
; WR-—aw o7 R ¥ 29 wow T8 2 -

(a) Punjab (vom) (b) Rajasthan (vrareerm)
(c) Hartyana (&Ran)

_ (d) Uttar Pradesh (3= w2
55.  What is the major cause of food crisis in the world? *w$ &7 3w HRYT feg & w7 &7
(@) Deforestation (a3ge=)

_ (b) Soil erosion (51 3TwET)
(¢) Population growth (srizan gfe) (d) Natural disaster (wiafrs amz)
56. Which one is matching National Park? g% 3 a1 sRa TS Jere 27

(8) Gir National Park - Lion (AR wsfg saH-fe)
(b) Sunder Bans- Rhino (gexg3-—18+)
(c) Kaziranga-Muskdeer (FERT—awd fRw)
(d) Corbett- Dolphin (Bfe — S i)
57. Example of artificial habita conservation of bio-diversity is :-
STATE # St Rifdemr e Serger 1 27

(a) Biosphere reserve (amves S IND) (b)Zoological Park (iR erm)
(¢) Sanctuaries (raRvy) (d) National Park @ sem)

- 58. In which of the following laws, chimney and its discharges have been discussed -
% Fom & siecfa feedl & Praa ot gt @1 qeam o & —

(a) The Wild Life Conservation Act (7 st weor Fram)
(b) Water poliution (Prevention and Control) Act 5i& wgueT (qam@ 3R o) Pras

(c) Air Pollution (Prevention and control) Act arg ygwvr (Frarer 3R =) e
(d) Environment Protection Act (qafavor e =) ,
59. Hunting of wild animals and use of garments made of their dead parts have been incorporated in the
law :-
S SPTell SRRt @1 e SR whR B el @ o (@) T T Praw @ ardhrg @ -
(a) Environment Protection Act (qafavor ey fam)
(b) Forest Conservation Act (a7 ey farem)
(¢) The wild life conservation Act (@ e wiveyor fram)
(d) All of the above (573 ¥ W)

ch region right of Tribals is not rotected in Wild Life Protecti ,
,! mmﬂ" Vg p Nild Life Protection Act

In
it
(a) (b) Jharkhand (sevs)

(d) Lakchya dwip (s &)

L
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(a) An earthen pitcher (fvé) o7 way) (b) Green Tree (i )
(¢) Umbrella (o) (d) Plag (stm)
!_ Both Power and manure are provided by - autt afve waoew 200 yar wver K -
(a) N“‘:‘Im" reactors (Jqsfaay Riges) (b) Thermal Plants(erager wert)
(¢) Biogas plant (airitw yiw) (d) Hydroclectric power (srggroar@a o)

F F’Iantnj{i 0l lll*t::i onunsaved farmland . road and rail sides ete is called
.. PIRT A B AR VAR B AN ar wre) I Y wmivarieyr ®

(@) Social forestry Fmmfha M ) (D) Agro forestry mi aifyah)

(¢) General torestry (mmn= ) (d) Commercial forestry (anfofemm aifa)
, Which has caused maximum damage 1o Indian Forests?

TRAT 9 B [aA Sey THEH gEd gRT Bar f -
() Z*:a‘elccnvc harvesting (wafa aerd) (b) Block Cutting (avem afr)
(¢) Taungya cultivation (@1a=r W) (d) Jhum Cultivation (s 2ref)

I'he natural cause for the extinction of s YECICS 1S
TRHIAE T W oot & qa Pk Fm'm’[k

:
}t
} (@) Floods (am) (b) Hunting (B (c) Industrialization (aeftyao)

e -

(d) Destruction of natural habitats . (wiafie snary @7 fa=re)
The functions of tree plantation is celebrated through :
RIRIGT THRIE HNAT Fiam & 378 gy -
(@) BEnvironment Day (gufevor Raw ) (b) Vanikaran (@-framvor)
(¢) Social forestry programme (WrTiRis @R i)
(d) Vasant Mahotsav (awd #iecqa)
Considering Climate Change, a decrease in tempreture leads to :
ey (Hre) aRads ¥ A amus eear 2—
(a) Lower evaporation (A amfrevon)(b) Hailstorms (qaemir aie)
() Snowfall (F=rera) ; (d) Higher evaporation (ST amfiaeo)
A recent technique for the study of Vegetation is : v 7ar qadte 2 aawafy sruad #1-
(a) Ground Photography (sRuf& wiem) (b) Remote Sensing (Riife il
(c) Field Work (wies a@) (d) Observation (fewfor)
Agroforestry and social forestry both include & @fa® 2k wFfre afe =T e &
(a) Production forestry (Seures aifa) (b) Commercial forestry (afoias aifaal)
(c) Afforestation (FFR=) (d) Plantation of trees (J&RIT+)
Deforestation will decrease: fAd=i®vor &9 & T@ar & —
(a) Soil erosion (a1 3rave=) (b) Landslide (R=rms) (c) Soil fertility (3a1 3dv®) (d) Rainfall (3w
INSATsystemis atype of : s=1e Ay 16 UdR &1 —
(a) Satellite (Suus ) (b) Geostationary Satellite (fRerR SquE)
(¢) Sun-Synchronous Satellite (§d qea®relt ®en) (d) Orbit - Satellite  (arifde SurE)
{UCN stand for: 1UCN &eamar & —
(a) Indian Union of Chemical Nomenclature (b) Indian Union of Conservation of nature
(¢) International Union for conservation of nature
(d) International Union for conservation of nutrients

There is a decrease in because of deforestation: PR 7 FROT FH EFH © -
(a) Soil erosion (a1 FUEA) (b) Global warming (®eefiy THiEe)
(c) Rainfall (awi) (d) Drought (=gan)

The management of resources on earth which maintains the balance between human requirements and
other species 1S :
G IR F= gANAET 3 @9 gl ¥ GERFE] BT YGE AT & qha T
(a) Conservation (¥R (b) Conversion (ufad)
(c) Diversity of Eco system (qiRftesfaa fafeern)
(d) Geological diversity (jasnfia fafaeam) |
- I'he life supporting gases such as O, Co, andN , are primarily concentrated in :
ofa= wewd 19 #9 Q; Co, and N, IuRerd ®&d & -
(a) Troposphere (dm sga) (b) Exosphere (af2#sa)
(c) homo sphere (BHRFIWR) (d) Stratosphere (|5 o)

- Chernobyl Tragedy was related to one of the following factors
AR G = A | 5w v FRE ¥ grafaa o

(a) Radioactive Radiation (f¥avwrdt fafdeor )
(b) Atomic Explosion (e faswie) (c) Earthquake (&)

(5)
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(d) Volcanic Eruption (el szam) 92.V

'8 West Bt'ﬂ!]! 5 hav n!robh-n of
'lhg T #I ":H" - | Il)

(2) Lead pollution (22 vy
(c) Arsenic pollution (e sgw)  (d)None of these (=2 *_ o 93.]
79 The exotic weed that has created problem of air pollution in India is :
4 ﬁtﬂwﬁwﬁmﬂmu{mﬂmmﬁaﬁt—
(2) Carvot grass (7 ww | (b) Ventiver Grass (94 plgn
(C) Mawe (wowy (d) Lemon grass (fory Ty 94+
St 20 Smog is |
A
5 (2) A natural phenomenon (fas )
(5) A combimation of smoke and fog gt i Fen &1 Aem)
e fmlfﬁﬁtﬁr}' ﬁﬁr: o) (d) All of the above Iﬁﬂéﬂq“”) 5
S | O ollowing are likely to be ent Iin ochemical smog’ 9
M%iﬂ#t%ﬁﬂm#%ngrﬁsmmg? "
(2) Sulphur dioxide (wesv TTaEe) (b) Smog &E)
(€) Chiorofluorocarbon (=i s1é)
S (d) Photochemical oxidants (@) 3faa FFEET)
&2 What are the sources of toxic wastes in marine life? N
S @i T T e w2
(2) Metals from mining @@ == ?) (b) Industries (=)
5¢ (€) Pesticides from farm (S & Semva) (d) All of them (svda =)
83. What is the reason for the causes of drought? 7
T & 7 3w 2
{a) Floods (a@)
5 (b) Tsunami (&)
{€) Land slide ===7=) (d) Excessive use of and surface water ¢
FRe I e aa R oW &) g

S€ H.Mn{ﬂwfolhwmgwm&mmmiblcfmmingsunbumsmdskincmcer?
PR s UV ma s IR o e aar &
|

57
s§ 1OXI (b) Nitrogen oxide FEZw JTaR)
(c)Both A and B (3r7 (a) 3w (b)) (d) Carbon dioxide (/= sHwaEs)
&7. Today the World's Number one problem is:
RE s s ca e -
(a) Pollution (w3wm) (b) Population explosion (F= <= fvwe)
(€) Nuclear proliferation (gvam)) (d) Natural Calamities (WsRe amwew)

sg 88 All the members of a particular species that lives in one calleda:
wthﬁﬂn_mmﬁmma%mam;fﬂm -

(a) Biome 'ﬂlm) (b) Population (=)

called
(b) Autotraps (ward)
(d) None of these (5% & o¥ &)
(b) Nitrogen (=)
(d) Water (=)
(b) Autotroph (vadl)
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(G) Trophic level (dT“T ?ﬂ‘)

gz.wg‘;ﬁmwn‘mﬂmm
(a) Diarrhea  (Sraf)
(c) (holera (&)

disease which can be transmitted thro

h of the following is not spread by water -

(d) Food pyramid (ama frofie)

(b) Mﬁlﬂfiﬂ (qw
(d) Dysentery  (arta)

93.1’“:1]@“ A RIFTATR B A A Sard m“ghjmpmﬂer transfusion is-

@) AIDS (€=9)
(c) Diabetes (i)

«rally for Valley" programme in India was organ;i
'R:ﬂ;ﬁ"ﬁnﬂ?hﬂ" mdma\:mu‘\m-_}ﬁg, =

(q-qﬁ'i'lﬂ CCREUE)
(h) Bio- diversity (W fafavrn)

(c) Rescttlement of displaced people  (Rvenfyg

(d) Loss of Agriculture (3R 4@ & afy)

(b) Cancer (#ere)
(d) Typhoid

d to highlight the problem of -
T W T fem # (a) Environmental  degradation

et @1 gerata)

India brown revolution is related with the production of -

951 T & i ity i &

(a) Solar production (¥R Fut saRT W)
(b) Fish production (Fc. ITURHA &) (¢) Milk

(d) Bio-gas production (MW JaE @)
96. Ghost town is related with :
| I8 AR &1 IHY o

(a) Mining (@7 )
(c) Earth quake (@9 9)

production (G Semes ¥)

(b) Land Slide (seaers 4)
(d) Cyclones (awarar #)

“Which one of the following days '"World Water Day' is celeb -
4 ﬁmﬁﬁhﬁﬁ#ﬁmﬁﬂ“ﬁwmﬁw*wmyg? ool

(a) 22 January (22 SIa)
(c) 22 March (22 =)

(a) Social forestry (e aifia)
(c) Reforestation (aTHYv)

| (a) Protein  (sfe)
(c) Vitamin B (Fcri B)
100.World's thickest layer of coal is found n :
fagg @1 HicT WR ST &1 Aerar 8-
(a) Uttar Pradesh (ST 9<¥)
(c) Jharkhand (FRES)

.-
i
I
|

-l

(b) 22 February (22 wvad)
(d) 22 April (22 o¥=)

Planting food crops and tree crops as a mixture is called:
< e Td @ Fdt AR I Wl e ®

(b) Afforestation (a=Riqv)
(d) Agroforestry (@fy arfan)

_Symptoms of blindness in children due to deficiency of :
A FYUS BT &I Todl W A0 B F AR 8 —

(b) Vitamin A (RBewi= A)
(d) Vitamin C (®er C)

(b) Madhya Pradesh (=7 W)
(d) Chhattisgarh  (&<ivTTg)

End Sem (II)}—

AECC (Environment Studies)
 (Science and Vocational))

(7)
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